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SRS Al 1,059,611 1,059,611 0

J| 331,800 331,800 0

= 727,811 727,811 0

YA F=H XE Ho| 1,059,611 1,059,611 0

Il 331,800 331,800 0

i 727,811 727,811 0

LHATHXIA XA (LA FHAT AR AE S LS| H) 1,059,611 1,059,611 0

Il 331,800 331,800 0

= 727,811 727,811 0

LYHEAFHIIGXR 1,059,611 1,059,611 0

Il 331,800 331,800 0

= 727,811 727,811 0

706 J|EHHSHeH 0 300,000 A300,000

03 HE= 0 300,000 A300,000

OgdAFHIIMY HES o 0 300,000 A300,000

801 GilIH] 427,740 127,740 300,000

1 eI 427,740 127,740 300,000

ooliglyl 427,740,000 427,740 127,740 300,000
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